LS = Wursstyle Serle 2.2
Vv 14) a) Fix) = ><1~7 (x)
Fod = 2% 900 + X 9'0x)
F"()() = 1 ‘gfk)-f- 1x- ﬁ l[k) + ZX-g '(X) + sz.j/z(/\/)
FO)= 190 +4x5°) + X% g7 (y)

b)
F'O00 = 9"00 + 4970 +x -9 (x)
: P00 2900+ 59" 0x) = 24°C0 ¢ x 4%

¢) Fx)= x. 9*(x)
Fiixd= 4. g*x) X {2 9(x)9'(x)) = 9*(x)+2x-g ) 4'(x)
IETTxT-— 2-9(x)9'(x) + 4-236x)-gf0)+2x[7’(x)-7’(x)+

g(){)-g"(X)]

4900° ) +2x(3'0x) "+ 2 -9 (4. ")

=

———— e =x

X)=

’ d) Fix) = g0 9'Cx)
Plo= 9'0d 9"+ 9009"0r) =(1'06)"+9 ()40
F'(x) = 2:9'(x) 9" () + 9'(x)-9"Cx) + g(x)-9"(x)
F' )= 3:9°00-9"Cx) +9Cx) 9" Cx)
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